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Enrollment No: _______________________         Exam Seat No:_______________________ 

C. U. SHAH UNIVERSITY 

Winter Examination-2021 

 

Subject Name: Object Oriented Concepts and UML 
 

Subject Code: 2TE05UML1    Branch: Diploma (CE) 
    

Semester: 5         Date: 17/12/2021  Time: 11:00 To 02:00   Marks: 70 
 

Instructions: 
(1) Use of Programmable calculator & any other electronic instrument is prohibited. 

(2) Instructions written on main answer book are strictly to be obeyed. 
(3) Draw neat diagrams and figures (if necessary) at right places. 
(4) Assume suitable data if needed. 

 
Q-1  Attempt the following questions.   

 a)  What is the full form of UML? 

(a) Unified Modelling Language (b) Universal Model Language 

(c) Unified Machine Language (d) Universal Machine Language 
 

(1) 

 b)  Which of the following is not the type of inheritance? 

(a) Multiple (b) Derived 

(c) Hierarchical (d) Multilevel 
 

(1) 

 c)  Which type of inheritance allows you to create a derived class that 

inherits properties from more than one base class? 

(a) Multilevel (b) Total 

(c) Multiple (d) Hierarchical 
 

(1) 

 d)  UML is a ___________. 

(a) Programming Language (b) Compiler 

(c) Modelling Language (d) All of the above 
 

(1) 

 e)  Which of the following programming language does/do support Object 

Oriented Concepts? 

(a) C++ (b) PHP 

(c) JAVA (d) All of given 
 

(1) 

 f)  Which of the following UML diagram has static view? 

(a) Activity (b) State Chart 

(c) Use Case (d) Collaboration 
 

(1) 

 g)  Object oriented programming is characterized by using 

(a) Encapsulation (b) Inheritance 

(c) Polymorphism (d) All of the above 
 

(1) 

 h)  _________ diagram is time-oriented? 

(a) Activity (b) Collaboration 

(c) Sequence (d) both a and c 
 

(1) 

 i)  A concept of parent child relation is referred as______________ 

(a) Inheritance (b) Message passing 

(c) Polymorphism (d) Encapsulation 
 

(1) 

 j)  Protected attribute and methods in class model represented by _______ (1) 
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symbol 

(a) + (b) – 

(c) # (d) / 
 

 k)  Which of the following is multiplicity indicator? 

(a) + (b) # 

(c) – (d) * 
 

(1) 

 l)  Message passing in sequence model is represented by___________ 

(a)  (b) – 

(c)  (d)  
 

(1) 

 m)  How many compartments are there in class structure? 

(a) 1 (b) 2 

(c) 3 (d) 4 
 

(1) 

 n)  Scope is represented with ________ in class diagram 

(a) Underline (b) Diamond 

(c) Dashed Line (d) Circle 
 

(1) 

Attempt any four questions from Q-2 to Q-8 

Q-2  Attempt all questions  

 (a) What do you mean by model? Explain its importance. (07) 

 (b) Discuss about the difference between object-oriented methodology and 

Procedure oriented methodology. 
(07) 

    

Q-3  Attempt all questions  

 (a) Discuss about the concept of Public, Private and Protected visibility with 

respect to class diagram with example. 
(07) 

 (b) Explain inheritance and polymorphism with suitable example (07) 

    

Q-4  Attempt all questions  

 (a) Explain class diagram with suitable example (07) 

 (b) Explain Generalization with its uses in class model. (07) 

    

Q-5  Attempt all questions  

 (a) Explain Use Case diagram with suitable example (07) 

 (b) Explain State diagram with suitable example (07) 

    

Q-6  Attempt all questions  

 (a) Explain sequence diagram with suitable example (07) 

 (b) Explain activity diagram with suitable example (07) 

Q-7  Attempt all questions  

 (a) Explain aggregation and composition in class model with example. (07) 

 (b) Explain fork and join in the activity diagram. (07) 

    

Q-8  Attempt all questions  

 (a) What is a constraint? Explain constraints on object, on link and on 

generalization set. 
(07) 

 (b) Discuss about following concepts of UML: 

(a) Multiplicity (b) Class and Objects (c) Metadata (d) Package 
(07) 
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પ્ર-૧  નીચેના પ્રશ્નોનાાં જલાફ આ઩ો.   

 a)  UML ન ાં પરૂ ાં નાભ શ ાં છે? 
(a) Unified Modelling Language (b) Universal Model Language 

(c) Unified Machine Language (d) Universal Machine Language 
 

(૧) 

 b)  નીચેનાભાાંથી ઇનહયેીટન્સનો પ્રકાય ક્યો નથી? 

(a) ભલ્ટી઩ર    (b) ડિયાઈલિ 

(c) હાઇયર્ચિકર (d) ભલ્ટીરેલર 
 

(૧) 

 c)  ક્યાાં પ્રકાયના ઇનહયેીટન્સભાાં ડિયાઇલિ ક્રાસ એક થી લધાયે ફેસ ક્રાસની પ્રો઩ટી 
ઈનહયેીટ કયી ળકે છે? 

(a) ભલ્ટીરેલર (b) ટોટર 

(c) ભલ્લ્ટ઩ર  (d) હાઇયર્ચિકર 
 

(૧) 

 d)  ય એભએર એ _________ છે. 
(a) પ્રોગ્રામભિંગ રેંગલેજ (b) કમ્઩ાઇરય 

(c) ભોિેર્રિંગ રેંગલેજ  (d) ઉ઩યના તભાભ 
 

(૧) 

 e)  નીચેનાભાાંથી ઓબ્જેક્ટ ઓડયએંટેિ પ્રોગ્રાભીંગ રેંગલેજ કઈ છે? 
(a) C++ (b) PHP 

(c) JAVA (d) ઉ઩યના તભાભ 
 

(૧) 

 f)  નીચેનાભાાંથી ક્યાાં િામાગ્રાભ નો વ્ય  સ્ટેટીક છે? 

(a) એલ્ક્ટમલટી (b) સ્ટેટ ચાટટ  
(c) ય ઝ કેસ (d) કોરોબ્રેળન 

 

(૧) 

 g)  ઓબ્જેકટ ઓયીએનટેિ પ્રોગ્રાભમભિંગને _________ દ્વાયા characterize કયી ળકામ છે. 
(a) ઇનકેપ્સસ્ય રેળન (b) ઇનહયેીટન્સ  

(c) ઩ોરીભોડપિઝભ (d) ઉ઩યના તભાભ 
 

(૧) 

 h)  _________ િામાગ્રાભ ટાઈભ ઓડયએંટેિ છે.  
(a) એલ્ક્ટમલટી (b) કોરોબ્રેળન 

(c) મસકલન્સ (d) a અને c ફાંને 
 

(૧) 

 i)  ઩ેયેન્ટ-ચાઇલ્િ (મ઩ત-ૃફા઱ક) સાંફ ાંધની કલ્઩નાને_______ લિે સાંદર્બિત કયલાભાાં આલે છે. 
(a) ઇનહયેીટન્સ  (b) ભેસેજ ઩મસિંગ 

(c) ઩ોરીભોડપિઝભ (d) ઇનકેપ્સસ્ય રેળન 
 

(૧) 

 j)  ક્રાસ ભોિેર ભાાં પ્રોટેકટેિ attribute અને method ને દળાટલલા ભાટે ______ મસમ્ફોર 
લ઩યામ છે. 

(a) + (b) – 

(c) # (d) / 
 

(૧) 

 k)  નીચેનાભાાંથી ક્ય  ભલ્લ્ટપ્પ્સરમસટી ઈંડિકેટય છે? 

(a) + (b) # 

(c) – (d) * 
 

(૧) 

 l)  મસકલાંળ ભોિેર ભાાં ભેસેજ ઩મસિંગ ને દળાટલલા ભાટે _______ લ઩યામ છે 

(a)  (b) – 

(c)  (d)  
 

(૧) 

 m)  ક્રાસ િામાગ્રાભ ના ભા઱ખા ભાાં કેટરા બાગ હોમ છે?  
(a) 1 (b) 2 

(૧) 
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(c) 3 (d) 4 
 

 n)  ક્રાસ િામગ્રાભભાાં સ્કો઩ ને દળાટલલા ભાટે _________ લ઩યામ છે. 
(a) અન્િયરાઇન (b) િામભાંિ 

(c) િેશ્િ રાઇન (d) લત ટ઱(સકટર) 
 

(૧) 

પ્ર-૨ થી પ્ર-૮ માાંથી કોઈ઩ણ ચાર પ્રશ્નોનાાં જવાબ આ઩ો.  

પ્ર-૨  નીચેના બધા પ્રશ્નોનાાં જવાબ આ઩ો.  

 (a) ભોિેર એટરે શ ાં?તેન ાં ભહત્લ સભજાલો. (૭) 

 (b) ઓબ્જેક્ટ ઓડયએંટેિ ઩ધ્ધમત અને પ્રોસીજય ઓડયએંટેિ ઩ધ્ધમત ના તપાલત મલળે ચચાટ 
કયો.  

(૭) 

    

પ્ર-૩  નીચેના બધા પ્રશ્નોનાાં જવાબ આ઩ો.  

 (a) ક્રાસ િામાગ્રાભ ના સાંદબટભાાં ઩બ્બ્જરક, પ્રાઈલેટ અને પ્રોટેકટેિ મલમસફીરીટી ના ખ્માર 
મલળે ચચાટ કયો. 

(૭) 

 (b) ઈનહડેયટન્સ અને ઩ોરીભોડપિસભ ઉદાહયણ સાથે સભજાલો. (૭) 

    

પ્ર-૪  નીચેના બધા પ્રશ્નોનાાં જવાબ આ઩ો.  

 (a) ક્રાસ િામાગ્રાભ ઉદાહયણ સાથે સભજાલો. (૭) 

 (b) જનયાઇરેજળન તેના ઉ઩મોગો સાથે ક્રાસ ભોિેર ભાટે સભજાલો. (૭) 

    

 પ્ર-૫  નીચેના બધા પ્રશ્નોનાાં જવાબ આ઩ો.  

 (a) ય ઝ કેસ િામાગ્રાભ ઉદાહયણ સાથે સભજાલો. (૭) 

 (b) સ્ટેટ િામાગ્રાભ ઉદાહયણ સાથે સભજાલો. (૭) 

    

પ્ર-૬  નીચેના બધા પ્રશ્નોનાાં જવાબ આ઩ો.  

 (a) મસકલન્સ િામાગ્રાભ ઉદાહયણ સાથે સભજાલો.  (૭) 

 (b) એલ્ક્ટમલટી િામાગ્રાભ ઉદાહયણ સાથે સભજાલો. (૭) 

    

પ્ર-૭  નીચેના બધા પ્રશ્નોનાાં જવાબ આ઩ો.  

 (a) ક્રાસ ભોિેર ભાટે એગ્રીગેળન અને કાં઩ોજજળન ઉદાહયણ સાથે સભજાલો.  (૭) 

 (b) પોકટ અને જોઈન એલ્ક્ટમલટી ભોિેર ભાટે સભજાલો.  (૭) 

    

પ્ર-૮  નીચેના બધા પ્રશ્નોનાાં જવાબ આ઩ો.  

 (a) કનસ્રેઈંટ શ ાં છે?ઓબ્જેક્ટ ઩ય, ર્રિંક્સ ઩ય અને જનયરાઇેસન સેટ ઩ય કનસ્રેઈંટ 
સભજાલો. 

(૭) 

 (b) નીચેના ખ્મારો મલળે ચચાટ કયો. 
(1) ભલ્ટીપ્સરીમસટી (2) ક્રાસ અને ઓબ્જેક્ટ (3) ભેટાિેટા (4) ઩ેકેજ 

(૭) 

    

 


